
a}=kmf=174

bfloTj ?= ;DklQ ?=

1= a}lsé clkm;df gf]^ df}Hbft 9,975,859,952   1= ljb]zL d"b|f / ;]So"l/^L 476,841,752,000

2= rng rNtLdf /x]sf] gf]^ 466,865,892,048

hDdf lgisflzt gf]^ 476,841,752,000

hDdf bfloTj 476,841,752,000   hDdf ;DklQ 476,841,752,000

OSjL^L tyf bfloTj ?= ;DklQ ?=
1 d"nwg 5,000,000,000   1  gf]^ 9,975,859,952
2 ;fwf/)f hu]*f sf]if 25,974,792,905   2  /]RsL -
3 df}lb|s bfloTj sf]if 5,086,563,008   3  ljb]zL d"b|f 33,631,999,450
4 ljsf; sf]ifx? 23,361,344,745   4  ljb]zL a}+s df}Hbft 61,469,701,510
5 #=;f=p= ljsf; sf]if -   5  P;=*L=cf/= ;+lrtL 590,395,691
6 ;^xL ;lds/)f sf]if 58,821,697,907   6  ljb]zL a)* 140,311,742,912
7 ;"grf¤bL ;lds/)f sf]if 6,312,087,397   7  vl/b / l*:sfp)^ u/]sf] ljn
8 ;]So"l/^L k"g/d"Nof+sg sf]if 289,378      -s_ :jb]zL 17,439,126
9 lgIf]k      -v_ ljb]zL 53,715
   -s_ g]kfn ;/sf/ 267,408,202,094   8  nufgL
   -v_ afl)fHo a}°x? 148,961,849,785      s= ljb]zL ;]So"l/^L 284,079,864,113
   -u_ ljz]if lgIf]k -      v= g]kfn ;/sf/sf] ;]So"l/^L 94,235,410,617
   -#_ cGo 33,880,368,291      u= ljQLo / ;+:yfgx?sf] ;]So"l/^L 2,795,703,460
10 e"QmfgL lbg"kg]{ lan 121,607,049      #= l/kf] ljb]zL -
11 g]=/f=a}= C)fkq lx;fa -      ª= cGo ;+:yfgx?sf] ;]So"l/^L 31,000,000
12 l/e;{l/kf] ;]So"l/^L jfktsf] bfloTj -   9  shf{ / ;fk^
13 P;=*L=cf/= af¤*kmf¤* 10,392,611,704      s= g]kfn ;/sf/nfO{ -
14 cGo bfloTj 103,649,131,697      v= jfl)fHo a}+sx?nfO{ 15,481,954,966

     u= ljQLo ;+:yfx?nfO{ 990,675,419
     #= :yfoL t/ntf ;"lawf -
     ª= cGo shf{ / ;fk^ 3,774,627,307
  10 ;"g df}Hbft 1,886,461,207
  11= cGo ;DklQ 39,697,656,515

hDdf OSjL^L tyf bfloTj 688,970,545,959   hDdf ;DklQ 688,970,545,959

-/fugL l;+x_ -l*NnL/fd kf]v|]n_ -k"ikf clwsf/L_ -t]haxfb"/ /fgf du/_

;xfos lgb]{zs sf=d"=pk lgb]{zs sf=d"=lgb]{zs sf=d"=sfo{sf/L lgb]{zs
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